1,2

F1(x,y,2)
F2(x,y,2)
X y z F1(x,y,2) F2(x,y,2)
1 1.33 2.7 4277 c0S6C) - e_y E*/Fys ,
Jz 4. 7%
2 -3.3 1.757 0.45 sin(3x)+5«/;ln(y) ! gx“%/E
2.0y
3 2.28 2.7 0.792 | - 2tg(y) 5 y’s 3/,
{ 5 NG
4 51 -4.19 | 0.241 | cos +y)+In@B2) " | 6y
AN 5 x*
5 4185 232 '69 SI(XZ’A_ 32)2 N 23|n(y) ﬂS X4 .
R 9 y2
6 -2.89 -1.4 3.]:21 e _ cos@®) 3 x* 372
7 y?
7 -0.436 1.1 \ 2.783 sin(xy) +53/ZZ f’ x°3 y2
\ 3 2
8 1.128 | -2.45 0.7 3tg(y?) - InGx- 2) | 8x3%/2?
\ 3 y°
9 0.34 ‘ -4.9 5.271 | €Y +cos®) 17 3/z
\ x?y®
10 -3.1 7.24 0.452 4/x+3y- sin(22) 5 NG \/F
11 7
11 -2.76 3.8 0.452 3 - 2In(£) 15 3/ 4
y 2 X4y2
12 3.7 -2.408 | 1.15 cos(y* 2) +3 /53 - 4y*
724/x
13 -0.6 3.258 4.1 e®* ¥ + 3arcsin) 11 X“(/?
6 y°
14 3.18 -2.5 4.732 tg(2xy)+§/§ y3 \/?
8x°
15 0.295 5.8 -2.07 In(xy2)+4arccos§) _ 13x3 (/F
Z4




16 -4.17 0.6 1.324 | sin(z%) - ®¥» 5 2°
7x° %/;
17 3.267 -7.9 2.43 | sin®(xy)- In(32) ax® 7
ye
18 1.8 -4.043 | 2.71 | € +sin(y®) 4/x
- 13y4 2
19 7.26 -3.092| -0.3 e + cos(K®) 53/x4 7
"9 .
20 5276 | 1.9 -2.461 m_ Sin(g) 8 Jx
V4 3 y425
21 -4.7 1.01 3.094 In(y- x)+arcsin(£) ] 177
4 %3 V2
y
22 -1.8 7.106 | 0.95 | e*In(4y)+5arccosg)| - 5x* v
8/ 4
23 1.87 -4.3 3.294 tg(2% +y) - &/ 7y s
—2-3/z
8 x*
24 1.6 -5.94 2.941 | cos(xy) - arctg(22) 1%/7
- W
25 3.981 -1.2 4.17 ex*7y) +COS(\/E) y2 %/?
- 03
NE
26 9.39 1.733 | -0.8 sin(l) +3/xIn(y?) 4y 24
VA 7X2
27 6.7 -0.28 0.381 | o*_ 3 (NG
e” - X’CcosRy) .25 X
y'z
28 -7.654 | -3.49 0.2 arcsin(yz) + 2tg(x) 3_1y6</;
X4
29 4.36 -9.1 7.974 W_I_COS&) Ewys
A
30 3.6 -0.945| 2.19 | sin(x*- Z°) +arccosf| 3y
-3
y Nz
31 -7.8 0.491 3.42 | oZ _ 2In(y) x% 3z




3
) ;
) 0.001 ( );
) P 0.001 .
# " # 5% $ "
0O -20-0IN 3 - 03N 60- 24N
-7 0 -2 1 -5N-1
A= ; B=
-4 - 0IN 0 6+03N -4N- 6
2 5 10 0 -8N- 15
4
-4x +X,=-2*N- 1
2%, +(4+05*N)*x, - X, =15*N - 4
4x, - 8, +3x, =5+8* N
- 6%, - (5+N)*x, =-15+3* N
5
= LU-$# " . %
, $" $ #
& &
-4 1 2 -9 12 -7 4 -6 7 23 -6 8 4 16
-8 -3 7 -7 56 -37 50 | - 47 30 -45 -22| -79
20 -20 -8 64 -21 -8 -7 33 -42 71 31| 88
3 -5 -1 -27 |13 -7 4  -9| 11 24 2 -8 7 -14
15 -16 -1 - 97 -35 23 -40 88 -6 30 -25 38
-12 -7 -6 4 56 -20 98| 62 10 -76 64 - 86
-4 1 2 3 14 -4 2 -7 -8 |25 -6 2 4 - 14
28 -12 -11 -9 20 -5 38 11 -24 1 24 | -78
-8 -23 12 73 8 11 31 - 55 30 -59 30 | -36
7 3 5 -18 |15 7 6 3 -15 |26 4 -5 8 -15
28 8 22 - 60 21 14 4 - 78 28 -32 54| -80
-56 -16 -52 88 28 32 24 16 -20 7 -21 -89
-2 4 7 -5 16 2 3 4 | -11 |27 -4 2 3 5
16 -35 -61 53 -16 -31 -24/ 85 -12 11 3 25
12 -39 -61 65 6 -26 47| -33 -32 -4 55 - 35




6 9 -3 5 14 17 8 -3 5 1 28 -5 7 3 9
45 -11 24 38 40 -11 23| 35 -45 61 35 89
-63 9 -30 6 -16 22 -12| 76 35 -57 5 - 43
7 -6 -5 9 9 18 2 5 -3 11 |29 5 -6 4 -19
18 16 -29 | -34 8 12 -8 56 -25 23 -17 97
-42 -26 48 6 -14 -59 27 | -11 20 39 -13| -86
8 5 -4 2 -4 19 9 3 7 -14 |30 -6 -5 -2 -1
-30 21 -11 14 -36 -17 -32| 43 -42 -32 -10| -18
10 4 8 24 27 -16 3| -93 12 22 27| -98
9 -2 1 4 13 20 5 -4 -6 21 31 -3 4 -5 -3
-14 4 20 98 15 -10 -14 61 -15 22 -19| 5
-6 9 35 32 10 -24 -37 | 30 12 -12 35| 58
10 7 5 2 15 21 -5 3 -2 18
-28 -23 -4 -5 -15 13 0 68
42 15 40 97 -28 11 54 - 54
11 -7 5 4 7 22 -7 2 5| -1
63 -47 -42 | -69 56 -12 - 43| 15
-21 3 -21 -9 -28 28 11| 1
6.
% ) f(x)=0 $ [a,b]. ( ) )
y=f(x).
) 0,01:
) 0,0001 * :
) % 0,0001;
) 0,0001.
f(x)=0 [a,b] f(x)=0 [a,b]
1 [-1.5; -1] 11 [0.2 ;0.5]
2 [2.4;2.6] 12 [-15; -1]
3 [0.4;0.9] 13 [4.2 ;4.6
4 — [2.2; 2.6] 14 [-4.4; -4]
5 — [-0.8;-0.3] 15 [0.8;1]
6 [1; 1.5] 16 [1.5;2]
7 [2.5; 3] 17 [0; 0.5]
8 [0.6 ; 1] 18 [-2.8;-2.2]
9 [-1.5; -1] 19 [1.5; 2]
10 [0.5;1] 20 [1.5;1.9]




+" $ ) f(x) # $ z

n *
& f(x) z : f(x)
1 [ xg 0.58 X [0.3 0.4 0.5 0.6 0.7 0.8 0.9
2 " +1dt 0.62
3 0 0.74 F(x) | 0.303972| 0.409115| 0.517302| 0.629148| 0.745267| 0.866264 | 0.992758
4 | xginx | 1.31 X [1.1 1.2 1.3 1.4 1.5 1.6 1.7
5 —dt [ 148
6 | oX*l 753 F(x) | 0.326521| 0.368958| 0.411119| 0.45265 | 0.493131| 0.532366| 0.569934
; Xcosxdt g.gl X 0.2 0.3 0.4 0.5 0.6 0.7 0.8
9 0 X+1 0:61 F(x) | 0.181163| 0.258698| 0.3283 0.390416| 0.445432| 0.493692| 0.535516
10 [ x ot 1.49 X [1.3 1.4 1.5 1.6 1.7 1.8 1.9
11 th 1.56
12 0 t+1 1.63 F(x) | 0.60383 | 0.620752| 0.635748| 0.649048| 0.660852| 0.671338| 0.680657
13 | *sing+D) | 0.33 X ]0.1 0.2 0.3 0.4 0.5 0.6 0.7
14 | , Jx+1 | 0.46
15 0.51 F(x) | 0.084621| 0.169708| 0.25456 | 0.338551| 0.420925| 0.501207| 0.578791
16 | * cosx [ 159 X |1.4 1.5 1.6 1.7 1.8 1.9 2.0
17| fr1 | 164
18 1.72 F(x) | 0.805752| 0.813459| 0.814771| 0.809921| 0.799186| 0.782876| 0.761339
19 [« o 0.61 X 0.4 0.5 0.6 0.7 0.8 0.9 1.0
20 | e dt [0.78
21 0 0.82 F(x) | 0.443883| 0.579242| 0.729747| 0.898801| 1.090467| 1.309662| 1.562394
22 [« 1.49 X [1.3 1.4 1.5 1.6 1.7 1.8 1.9
23 | evdt [156
24 0 1.63 F(x) | 0.787813| 0.808669| 0.826135| 0.840671| 0.852696| 0.862586| 0.870674
;g * s/t %i% X 0.2 0.3 0.4 0.5 0.6 0.7 0.8
27 ’ 0:57 F(x) | 0.042906| 0.118066| 0.241688| 0.420263| 0.658376| 0.958627| 1.321427
gg costDt %Z;i X [0.6 0.7 0.8 0.9 1.0 1.1 1.2
30 0 0.96 F(x) | 0.583965| 0.670473| 0.750033| 0.820787| 0.880815| 0.928233| 0.961289




- y= 2ibx $ # $
X
X 0.1 0.2 0.25 0.5
y 29°N 13°N 10>N 2°N
N- ) a,b
. % ) $
)
0.
2
f (X)dx h=0.25, $"
10
)
) ;
$ ;
)* ;
) "8 "%
( # )
) $
& f(x) & f(x) & f(x)
1 sinx 11 3ocosx 21 e *
X X X
2 e/ 12| sinvx 22 | 20cosyx
3 e sin3x 13 e 3cos2x 23 e3— X
Xx+1
4 % 14 co si 24 10sin 1
e & \/;
5 - X 15 sin? x 25 - cod X
108 e e
Jx
6 e* 16 L 26 e*
= e =
X X
7 e % 17 sinx 27 COSX
5 2 2 2
X X X
8 ] 50cosx 18 e* 28 15slnx
Ix x Ix
9 sinx 19 40 COSX 29 ex*3
x+1 Xx+1 X+3
10 eco§ X 20 e sin? x 30 Se- XX




| $ 0 $ 08 " )
y=1(xy) h=0.2
y(a) =Ya
)" 1
) $ -0 2-
) $
( ) #
f(X) f(x)
1 | Inx 16 ‘= t + . :'l
Yz 2 Y= V=g oS YO
2 i _ sinxy. - 17
y'=cosx(-y+e™); y@0)= -4 y':-2+2);-:2y; y(-2)=4+e
3 y= - ytgx+e*cosx; y(0) =3 18 y':5z+|nx><x5; y@ =-05
X
4 i\ - x2 . - 19
y'=-2xy+e ™ cosx;, y(0)=-2 y'=sinx(- y +e®%); y(%):l
5 . COS2X- 2X 20 Inx
=22 y0)=3 y=-22+25 y@)=-2
1+ x X X
5 21
y-:_4i+'”_5x; y@d)=-2 y'= yctgx+sin® x; y(%)=2
X X
7 , 2x- 2 22 | y=- N =
y=2+=5y Y@ =4-e y=-2y+etige y(0) =4
8 l ] cosx 23 , 2X+ 2
y'=sinx(y +e“); y(%)=l y'=2+ Y y(-2)=e- 4
9 | y=-2xy+esinx y0) =2 |24 ] y=ycosx+e™ xgx y(0)= -3
10 | y'=-ytgx+x>cosx; y(0)=-2 |25 y=22+In*x0 y@)= -1
X
11 26
y=3Y +Inxxe; y@) =3 y'= yctgx+sin2x; y(%):-z
X
12 - 21
y=3+23y y@=ove y=-32+ 1%y =1
13 | y'=cosx(y+e™™); y(0)= -2 28 y':2xy+exztg><; y@)=-2
14 { X2 H . —_ 29
y'=2xy+e* sinx; y(0)=-3 y= - ysinx +e**sin® x; y(%):%
15 30
y:-4+2’“2’4y; y(-4) =16- e y'= yetgx+sin®x, y(2) =~
X 2 4
11
y+p()y+a(y = (0, x1 [ab], v@=y., ybO) =y,
b-a
h=——;
) 5
) h=D"2a.
10




y'+p()y+a()y = f(x), xT [a;b]
y(@) =Y., y(O) =Y,

y'+p()y+a()y = f(x), xT [a;b]
y(@) =Y., yb) =Y,

1 y'+23y"- 7xy=5cosx, x1 [12] 16 | y'+28y-2cosxxy=5- 4x, x1 [- 10]
yh =3 y@=5 y-D=1% y@0)=2

2 y'+3e *y- 10y =3+2x, x1 [0] 1| y+27y-sx®y=x, xi [-3-2]
y0) =2 y@®=2 y(-3 =1 y(-2=1

3 y'+ 31yt 4sinxxy =5x, xi [23] 18 | y'+5y- 85xy=sinx, xi [34]
y@=-L y@=3 y@=-L y@4)=-1

4 y'+84y- 31+ x2)y=6-x, xI[-2-1 |19 | y+e*y-8y=4-3x xI [ 10]
y(-2)=0, y(-1)=3 y-D=-2, y(©0)=0

> y*+(3+2x)y-5y=¢€*, xi [- 10] 20 | yaxxy-7y=e?, x1 [0]]
y-D=1 y@©0)=2 yO0) =2 y@=2

6 y'+71y+cosxxy= - 3x, xi [34] 21 | y'4+109y-5y/ x> =2- 6x, xI [23]
y@ =1L y@4)=-1 vy =1 y@®-=-1

7 y'+(5- 3x)y-2y=e*, xI [12] 22 |y 34y-5cosxxy =x2, xI [12]
yh=-3 y@=-1 yh=-1 y@=-2

8 y-2e°y-4y=x-5 xi [ 2-1] 23 |y cosxy-3y =5/1+x?), xi [-10]
y(-2)=0, y(-1)=2 y-D=3 y0)=1

9 y'+42y-3xy = 2sinx, xI [23] 24 1 y+12y-x2y=e*, x1 [od]
y2 =1 y@=2 y0) =1 y@)=1

10 | y+a6y-6y/a+x2)=x2-3 xifog] |25 | y-32y-x’y=-3sinx, xi [1:2]
y0=2 y@®=-1 yh =0 y@-=1

111 y+@ao+5sxq)y-7y=e*, xI [- 2-1] 26 | y42e*y-9y=7x- 3 x1 [23
y(-2)=L y(-)=4 y@=-2 y@=0

121 y+21y- x?y =-3cosx, xI [01] 27 |y 37yt 70+ )y = %3, xi [12]
yO)=-1 y@=1 yO=-1 y@-=0

13 |y apyt 7sinxxy =2, xi [23] 28 | y+02y+2xy=6cosx, xI [- 2-1]
y2=3 y@=3 y(-2)=0; y(-1)=2

14 1 y+32y-4/a+x?)y=x, xI [- 10] 29 | y+47y- 5+3y=e*, xI [01]
y-D=1 y0=-1 y0) =1 y@®)=-1

15 30 | y"- 39yt5sinxy= -4x, xi [34]

y-5e%y-y=x2, xi [01]
y0) =2 y@®=1

y@ =0 y@#=0




